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Question 1 [6 marks]

The following questions are about host A with the classful IP address: 200.160.2.20

(a) What is the class of the IP address? [2 marks]

(b) Host B has the IP address 200.160.3.21. Is host B on the same subnet as host A?
Explain your answer. [2 marks]

(c) What is the single IP address that host C would send to in order to deliver data to
all hosts on the same subnet as host A? Assume A and C are on different subnets
[2 marks]

Question 2 [4 marks]

Answer the following questions about internetworking, nodes in an internet and the
Internet Protocol by filling in the blank spaces or circling True or False where appropriate.

(a) All hosts and routers in the Internet must implement IP in the
layer. [2 marks]

(b) IP uses packet switching and provides guaranteed delivery of data between source
and destination. True or False. [2 marks]
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